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] 0 2 4k 4t e, 2 ) T ) o 1| L A vl 2 ] 120kV AL AL FE ik 10kv873 Tk 2k 8660.3 314.24
] 9 5 % it e 2 5 ] ) s 1| 3 v 2 ] 110kV /3 538 HL ik 10kV 8785 ¥ Jik 1] 2% 9976.6 928.98
] 0 4k 4t e, 2 ) T ) s 1| L A vl 2 ] 35KV A H v 10kv885k T.2k 9595.6 464.8
FE 1P 9k 4 e 2 ) I ) o 1 A v 8 ] 110KV [ )11 42 H i 10kV/ 5824 75 £k #% 9976.6 1126.68
] 0 45k 4t e, 2 ) I ) s 1| L A vl 2 ] 120kV AL AL FEL 10kV8654L S £k 9976.6 501.18
oA 5 3 it H 28 ) [E] o iz ) 1] it b 2 ) 110KV HE Y AR H i 10kV5487H %I 2k 8660.3 346.74
] 0 3 45k 4t P, 2 ) I ) s 1| L A vl 20 ] 120kV AL AL FE ik 10kV866/)NF-2k 9006.7 533.16
oA 3 it e 28 ) [E] o iz ) 1] it b 2 ) 110KV /3 5 A48 1 bl 10kV885 3L i £k 9976.6 671.38
] 0 45k it P, 2 ) IR ) I 1| L A vl 20 ] 120kV AL AL FE ik 10kV8754L 75 £k % 8729.5 0
P 7 4k 4 A ) ] g B= 3P AT 35KV I AR HLik 10kv881E b2k 9976.6 0

] ) % 3 0k A 7] ] 4R 5 )| LA o, 2 ) 35KV 14 A L 10kV546%% 5 £k i 4243.5 0

FE] %) 5 S0t e A ] FE] A s )| L A3 B, A ] 110kV 1 2848 HE b 10kV857#7 1k 2% 8729.5 0

] 0 3 45k 4t P, 2 ) I ) I 1| L A Pl 2 ] 110KV % )11 48 F i 10kV 5883, 4 £k % 9976.6 0

] P 3 9k 4 2 ) ] ) I 1 AR v 8 ] 35kVT- A8 HL ikl 10kV549°F-k 2k 9976.6 0
] 0 45k 4t P, A ) TR ) I 1| L A Pl 20 ] 110kV A% FE 22 F ik 10kV8604% H £k 9976.6 0
FE] 9 3 0 by 24 ] FR] A i )| L 43 e, A ) 110kV AL AR H il 10kV 87245 B 1 [F] 25 9595.6 0

] 0 2 45k 4t e, 2 ) T ) s 1| L A 2 ] 120kV AL LA FE ik 10kV 877 11 ] £& 9595.6 0

) It L2 P ) 1B A3 HL 8 ] 35KV %8 5 AR ik 10kV 84475 A £k 9976.6 0

] 0 4k 4t i, 2 ) T ) o 1| L A 2 ] 110kV A% FE 28 F ik 10kV 85674 Vi £k 2598.1 0
o 23R A2 F, 2 ) o 5 1 L0k by A 110kV A% FE 28 HL il 10kV859 K F % 25 8660.3 0

] A 3 A4 L ) ] oA o ) 1L A3 el 2 ) 35KV A% L G 10kV 5481 4 £k 9976.6 0
] ) 22 4k 148 2 ) FR] A i 1| L A3 e, A ) 120k V AR 528 HL ik 10k V55048 i 111 FE 2% 8660.3 0
] ) % B 0 A ] FE] R 5 )| L A2 A ) 110KV /3 778 3k 10kv 8793 2L 2598.1 0

] 9 5 3 it B 2 ) I ) s 1| 3 v 26 ] 35KV -T- A8 HL il 10kV551F- 2k 6720.4 0
] o 9k 4 Pl A ) I o K LA R 24 ) 35KV il 48 FL itk 10kV8044%K 5 45 6581.8 1976.94
] A 3 it r 2 ) ] X 90 7K B A4 R A ] 35KV Aili £ 48 H ik 10kV 808K hifi £& 7707.6 183.78
] P 9k 4 Pl A ) I X 90 7K B ] 35KV i FG AL F v 10kV817 [ 3k 2k 6581.8 1240.54
] ) T 4k 4t e, 2 ) ] 5 90 7K B A3 v 28 ] 110KV K SR A8 H i 10kV 883k K £k 4780.5 175.4
] o 9k 4 Pl A ) I o0 K LA R 24 ) 35KV A A2 FL ik 10kV845 474 25 6980.2 227.96
L %) 5 S 0 et A ] FE] o 30 7K L A3 B, A ] 110kV FLAFE AR Bl 10kV5547K A 2% 4780.5 194.6
] P 9k 4 Pl A ) I X 30 7K B ] 35KV R VR AR HL itk 10kV 85775 FH £k 4780.5 180
] ) 2 4% 138 2 ) ] o0 7K B A v A ] 110kV oAl EE AR H, 3l 10kV/5647 it 2% 11067.8 158.44
] o ok 4 Pl A ) I X 90 7K B ] 35KV A AR FL ik 10kV 8435k V4 2 5802.4 340.02
] P 9k 4 e 2 ) B X 30 7K A v 28 ] 110KVR SR A48 HE bl 10kV 8664174 £ 6928.2 53.56
] P 9k 14 Pl A ) I X 90 7K B ] 35KV HPUR AR FL iz 10kV 8487 )11 £k 6945.5 249
] ) 22 48 48 2 ) ] o0 K B e A ] 35KV B AL HL ik 10kV 866 1 &k 2% 8054 679.1
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1P 9k 4 i 2 ) B X 30 7K B A v 2 ] 35kV A AR HL ikl 10kv 849+ ik £k 6581.8 39
] P 9k 48 Pl A ) I o K B A R 24 ] 35kV5K L1 48 FL ik 10kV5287K %2 £ 6581.8 450.6
P 9k 4 i 2 ) ENERY = 3 AT 35kV LR AB HLik 10kV 8567k Ak £k 5802.4 300.02
] P 9k 18 Pl A ) I o 0 K LAY P 24 ) 110kV FLAIFEAE L3 10kV/55975 it £ 6980.2 943.76
FE 1P 9k 4 e 2 ) I X 30 7K A v 2 ] 35kV i 2248 H ik 10kV 504 A 25 5265.4 837.1
] o 9k 4 Pl A ) I o K LA P 24 ] 110kV B 628 F ik 10kV5447% 1 2% 5109.5 1128.5
] o 5 4kt P, A ) ] X 90 7K A4 R A ] 35KV HJ IR A8 HL ik 10kV 8634 £k 6581.8 2975.24
] o 4k 4 Pl A ) I o0 K B A P 24 ) 35KV A AR F 10kves4ifg [ [l 6096.8 390.04
L ) S A L A ] ] o 07K B e A ] 110kV oAl EE AR H 3k 10kv5623 £ 11 [l 2% 8054 1585.4
] o ok 4 Pl A ) I o 30 K B AL R 24 ] 110KV Z5 AR v 3k 10kV8497 fit 42 6096.8 633.34
L %) 5 S0t A ] FE] o 30 7K L A3 B, A ] 110KV YLV B8 HE 3 10kv8635& 4 8054 879.6
] o 9k 4 Pl A ) I o 30 K LA R 24 ] 35KV A AR FL 10kv847-kiA £ 4312.8 756
FEL ) S A L A ] ] o 07K B e A ] 35KV il FE A8 HL il 10kV8154% 2% 9578.2 41.66
] o 9k 4 Pl A ) I o0 K LA R 24 ] 35KV A AR FL ik 10kv8gs i 1T [1] 6096.8 190.04
FE] 9 3 0 by A ] o 07K B i A ] 35KV A8 HL ik 10kV 8457 < £k 2598.1 360.38
] 9 9k 14 Pl A ) I o3 K LAY R 24 ] 35KV Al FE A2 L 10kV8165F U4 25 6581.8 352.54
L ) St e A ] ] X 30 7K A v 8 ] 35Kk Vi [ A8 HL i 10kv813 %< 1hi £k 6980.2 364.7
L P 9k 4 Pl A ) I P 0 K B A R 24 ) 35KV F VR A8 HL ik 10kV859 1A £& 4763.1 43.98
] P 3 4k 4 2 ) B X 30 7K A v 2 ] 35KV KA AL HL ikl 10kv 825 F #14k 6096.8 437.2
T P 9k 18 Pl A ) I o0 K B A R 24 ) 35KV A8 FL ik 10kV 8383t iR £ 2598.1 373.58
1P 9k 4 2 ) ERNERY = 3 AT 35KV ili £ 48 HL itk 10kV 80675 Pk £k 6581.8 450.04
] ) 32 31 it £, 20 ] ] ) 30 7K B it B A 5] 110KV Fo A0 R AL H 3l 10kVv561 Tk 1 [F1Zk 8054 892
P 9k 4 2 ) B X 30 7K A v 2 ] 35KV 48 HL ik 10kV 8463 - £k 4503.3 128.54
] o 9k 18 Pl A ) I o 3 K LA P 24 ] 35kV 3y FR AL FL ik 10kV 818 £k 5802.4 530.72
1P 4k 4 s 2 ) ERNERY = 3 AT 35KV KA AL H ik 10kV/892 5 il £k 5265.4 0
] o 9k 4 Pl A ) I o K LA R 24 ) 110kV FLAIFEAE L3l 10kV558 1 5tk 9578.2 0
] A 3 it r 2 ) ] X 90 7K B A4 R A ] 110KV A AR H il 10kV 8471 14k 6581.8 0
] P 9k 4 Pl A ) I o0 K B A FL 24 ] 35kV i 22 A8 HL i 10kVS1L1 A 25 5802.4 0
] ) T 4k 4t e, 2 ) ] 5 90 7K B A3 v 28 ] 110kV oAl EE AR HE 3l 10kV563 Fi MF 2% 8054 0
] R 3 i R 2 ) I R 3 7K L H 2 ] 35KV i %248 H v 10kV510% F 2k 10565.5 0
FEL ) St L A ] ] o0 7K B e A ] 35KV KA AR HL izl 10kV824-509 4 i 2% 9179.9 0
] P 9k 4 Pl A ) I o0 K LA R 24 ) 35KV i JEE AL HL il 10kV872-51114 1 £k 10565.5 0
L ) S 2 A ] B X 90 7K A v 28 ] 110KV AR H il 10kV 8481 3 25 9578.2 0
] o ok 4 Pl A ) I o0 K B AR R 24 ] 35kV/5K L 48 FL ik 10kV5347K 125 6581.8 0
FE] 9 3 0 by A ] ] o0 7K B e A ] 35kV i 2248 H itk 10kV5123 7t 2% 10565.5 0
] P 9k 14 Pl A ) I o 30 K B A R 24 ] 35KV AT A il 10kV 898 7 £k 8054 0
FEL ) At e A ] ] o0 K B e A ] 110kV g 75 A7 Ll 10kV575F7 35 2% 10565.5 0
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1P 9k 4 i 2 ) B X 30 7K B A v 2 ] 110kV oAl EE AR HE 3l 10kV555F &4k 6096.8 0
] o9 S it b, A ] [ 3 90 7K {3 Bl 2 7] 35KV A8 FL ik 10kV840-5513% J7f £ 9578.2 0
P 9k 4 i 2 ) ENERY = 3 AT 110k V 43 U 5 HL il 10kV 838l £t £k 7794.2 0
] P 9k 18 Pl A ) 90 K Bl A ] 35KV A8 FL ik 10kV 83637 g 2 6581.8 0
FE 1P 9k 4 e 2 ) I X 30 7K A v 2 ] 110kV oAl EE AR H 3l 10kV5563HAE 1 [5] 8054 0
] o 9k 4 Pl A ) I X 90 7K B ] 110KV FHIEE 7R v 3 10kV 8461 51 £ 9578.2 0
P 7 4k 4 A ) ] X 90 7K B A v 28 ] 110KV AR H il 10kV 84515 fi: 2% 9578.2 0

] o 4k 4 Pl A ) I X 90 7K B ] 35KV A2 FL ik 10kV842-5297% 9l £& 4156.9 0

FEL %) 5 S0t A ] IR o 30 7K L A3 B, A ] 110kV FBAL AL L b 10kV/546 51 75 2% 6980.2 0

] o ok 4 Pl A ) ] ) o 3 B P ) 35KV b 348 HLizk 10kV/54307 4 £ 2598.1 2241.88
P 7 4k 4 A ) ] ) IS 3 2 A3 v 8 ] 110KV 5] B 28 1 3 10kv871 T 11 ] 9578.2 369.36
[ oA 5 4 4t 24 ) T %) oF 3 L A4 Bl 2 ] 35KV 4R A8 FL ik 10kv9661L I I 9578.2 193.86
] ) 458 4t 2 ) FE] ] B 438 L A3 B, 2 5] 35KV, 74 A8 L ik 10kV/5297 £ £k 7014.8 909.04
[ o8 5 4 4t P, 2 ) T %) o 3 L A4 Bl 2 ] 110k Ui 28 FL ik 10kV 868 5 3 £k 4936.3 2033.84
oA 3 it e 28 ) ] %) S 35 B 43 P 23 ] 35kV [ 548 HLik 10kV/5954 7 2% 9578.2 5431.46
] 0 45k 4t P, A ) I ) B 4% L 43 v, A ) 35KV b A8 FL ik 10kVE IR 2k (866-907) 4442.7 99.96
1o 3 4k 4 2 ) ] ) IS 3 2 A3 v 8 ] 35KV A AR HL itk 10kV 8161 4 £k 9578.2 60.26
] o 5 4k 4t el 2 ) T ] o 3 L {4 £ 2 ] 110kV & kA8 FL ik 10kV873 & ¥ £k 9578.2 3708.16
] o4 S 9 it A ] (] ) 50T 3 {3 el 2 ] 35KV IR E AR i 10kV577 K 1 2% 5196.2 20.9
A 4k A4t e, A ] o B 43 L it Fi A ] 110KV BH 38 AL F 3 10kV 568 Ut £k 6304.7 3650.96
oA -4 1t F A ] oA ] 9k 2L it A ] 35KV IR AR HL ik 10kV57518 A 2% 2909.8 206.84
] 5 4 E 2 7 T [0 BH 31, Ak 2 ) 35KV |- 3 A v 10kV548 | HT 2k 4503.3 507.14
[5E] o4 S 5 it e, 2 ) ] %) 57 kit e 2 5] 35KV 2 IR L i 10kV 25528 (857-912) 5629.2 673.06
] o 5 4k 4t A ) T %] o 3 L A4 v 2 ] 110kV & kA8 FE 10kV856 & I5F 2% 3550.7 656.96
] R 5 4t E 2 ] R4 B 3 Lt B A 35KV AR 15 A8 H v 10kV533 6 3k 2k 2598.1 123.28
[ oA 5 4 4t s, 2 ) T ] o 3 L A4 B 2 ] 35KV P4 A8 FL ik 10kV 5273, R £k 9578.2 807.96
] ) 458 4t 2 ) FE] ) 3F 3 S {3 v 2 ] 35KV EiR A8 H i 10kV 8123, 1 £k 8054 1478.5
] P 9k 4 Pl A ) ] A ] 9k B A3 P 24 ) 110KV HT Ji 42 1 33k 10kV826T 7 £k 10911.9 12.02
oA 3 it e, 2 ) [E] o] B 3 3t 2 ) 110k V [FH I A2 H 3l 10kVS71F 2k 11223.7 2604.46
] 5 3t r 2 ) FE] [0 BF 3 A i 2 ) 35KV I G AL F v 10kV53074 1.2k 4849.7 449.96
] oA 3 it e, 28 ) ] %) 9 35 43 v 2 ] 35k Vi AL A HL il 10kV 84533 1 25 3117.7 332.16
] 5 3t r 2 ) FE] [0 BF 3 A i 2 ) 35KV |- B A F v 10kV5455F 3k 2k 4936.3 2084.84
FE] %) 5 S 0 e A ] FE] 4] B 438 L A3 B, 2 5] 110kV F+ 38 HE 3 10kv887F i £k 3637.3 452.74
[ oA 5 4 4t 24 ) T %) o 3 L A4 Bl 2 ] 35KV 4R A8 FL 10kv973 LR 1T 4936.3 984.14
oA 3 it e 28 ) ] %) S 35 B 43 P 23 ] 35KV, 74 A8 L ik 10kV535 PG FR£L 9578.2 2594.76
FEL 95 a1t P A I o B 4% L 43 v, 2 ) 35KV [ S HL 10kV5961 £k 9578.2 4096.5
L %) 5 32t b A ] FE] 4] B 4k L A3 e, 2 ) 110KV B 3538 L 3 10kV567 A< 7 2% 8054 1684.9
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] R 5 4t E 2 [ R4 B 3 L it B A 35KV 7R AR HL ik 10kv972 |2k 3637.3 631.64
] oA 5 4 4t s A ) T ] o 3 L {4 v 2 ] 35KV AL A8 FL ik 10kV 847 5 £& 3637.3 520.3
] R 5 4t E 2 [ R4 B 3 it B A 35KV IR AR HL ik 10kV/ 574 [ 2k 3117.7 217.26
] oA 5 4 4t 2 ) T ] o 3 L A4 v 2 ] 35KV FARAL FEL ik 10kV924 1 i £¢ 5265.4 388.22
oA 4 1t Hl 2 ] oA ] 91k 2L it el A ] 35KV S ARAR HL ik 10kV/933 i ] 2% 3550.7 147.66
] ) 5 34 it Bl 2 ] T 98] S 43 £k Fl, 28 ] 110KV ik AR F il 10kV G SE £k (513-911) 5629.2 2940.5
oA 5 3 it H 28 ) [E] o] B 3 it b 2 ) 35kV 2 FH A8 H ik 10kV 8447 Sk 2k 6928.2 527.96
[ oA 35 4 4t A ) T ] o 3 L A4 Bl 2 ] 35KV IR AL FL ik 10kV573 75 A £k 5196.2 709.56
] 4 5 4k 4t Pl A ) ] %) S 35 L 43 F 2 ] 35KV AT A8 H b 10kV 81745 il 2% 6980.2 114.56
[ oA 35 4 4t 2 ) T %) o 3 L A4 Bl 2 ] 35kV [ 548 Lk 10kV 58445 I £k 2598.1 999.98
L ) S A L A ] ] ) IS 3 2 A3 v 8 ] 35KV 7R AR HL itk 10kv969 T I 2k 5282.8 1528.64
] o 3 it R 2 ) T [0 BF 31 A3 i 2 ) 35KV [ 54 B v 10kV5867% FH 2k 4936.3 1358.44
oA 3 it e 28 ) ] ) S 35 2 43 v 23 ] 35KV, 74 A8 L ik 10kV532 78 1 2% 4312.8 480.04
] 5 3t R 2 ) T [0 BF 31 A i 2 ) 110KV 7+ HE AR F 10kV886 T+ 42k 5611.8 241.64
FE] %) 5 S0t e A ] FE] ) B 438 L 3% e, 2 ) 110KV e 3538 1 3 10kV8288 4 2% 8313.8 873.1
] 5 3 it r 2 ) T %] o 3 L A4 Bl 2 ] 110Kk V [FH I A8 FL ik 10kV5700H 7 £k 12055.1 2488.78
] o4 5 % it B 2 ) [E] o] B 3 S it b 2 ) 35KV b AR HL ik 10kV 8647 b 2% 3637.3 566.64
] o 5 4k 4t el 2 ) T ] o 3 L {4 £ 2 ] 35KV bR AL H 10kV92574 11 £k 7274.6 18.88
] o4 S 9 it A ] (] ) 50T 3 {3 el 2 ] 35KV IR AR HL ik 10kV57672E 2% 3550.7 384.56
] o 3t r 2 ) T [0 BH 31, ik Hhy 2 ) 35kV [ 548 Lk 10kV588 1 [idl £k 11223.7 60.86
P4 A3 H A ) PO 8E1 3 L 41 s A ] 110k V PH A8 HL ik 10kV566'F £k 2k 9578.2 497.16
] RA 3 i R 2 ) I o B 31 L it s 2 35KV 25U A8 F ik 10kV903 2 HE 2k 5265.4 40
] R 5 4t E 2 [ R4 B 3 L it B A 35KV 74 AR HL ik 10kV5257 £k 2k 9578.2 809.96
] o 5 4k 4t A ) T %] o 3 L A4 v 2 ] 110KV MY J5 A2 F 10kV824HT Bk £k 4243.5 3262
oA 4k 1t H A ] oA ] 91 2L it el A ] 110k V i 328 HL il 10kV i A1 £k 824 11639.4 296.42
] 5 3t F 2 ) T [0 BH 31 L A3k H 2 ) 110Kk Vi 328 FL ik 10kV819ii T.2k 4503.3 754.44
] ) 458 4t 2 ) FE] ) 3F 3 S {3 v 2 ] 110KV 42 H 3l 10kV8297H 7R £k 5196.2 237.46
[ oA 3 4 4t A ) ] %] oF 3 L A4 Bl 2 ] 35KV AL A8 FL ik 10kV 84673 [ £& 5819.7 119.46
] ) T 4k 4t e, 2 ) FE] ) 3 B S {3 v 2 ] 110KV A2 H 3l 10kV/ 8337 i £k 3290.9 2857.72
[ o8 35 4 4t s, 24 ) T %) oF 3 L A4 Bl 2 ] 35KV 5 AL A8 FL ik 10kV 85175 HH £k 3637.3 745.34
] oA 3 it e, 28 ) ] %) 9 35 43 v 2 ] 35KV A A8 HL izl 10kV 81525 % £ 6980.2 207.36
] 5 3t r 2 ) FE] [0 BF 3 A i 2 ) 110KV 7+ HE AR F 10kv883F+ t:2k 4208.9 1057.62
FE] %) 5 S 0 e A ] FE] 4] B 438 L A3 B, 2 5] 35KV ZR 1148 HL il 10kV5355: bk 2% 3637.3 708.34
[ oA 5 4 4t 24 ) T %) o 3 L A4 Bl 2 ] 35kV|b B A2 FL ik 10kv518L 4 £k 4936.3 486.04
oA 3 it e 28 ) ] %) S 35 B 43 P 23 ] 35KV il 48 HL izl 10kV803 7 R 2% 8054 2594.8
] o 3t rL 2 ) FE] [0 BF 31 A3 i 2 ) 35kv b B A H 10kV5244b& 1T 11223.7 1092.96
oA 3 it F 2 ) ] %) S 3% 2 43 v 23 ] 35KV 7R AR HL itk 10kV965 7R B 2k 5819.7 1616.06
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] ) 32 31 it H, 2A ] 5] I 5 45k 1 L 2 ] 35Kk V[ b A8 H i 10kV 86774 A8 £k 4607.3 38.84
] o 3t r 2 ) T ] o 3 L {4 v 2 ] 35KV, 74 A8 F ik 10kV PG SRR Lk (523-811) 8054 546
IR 5 4t EL 2 R B 3, L 3t E A 110k [i P 28 L il 10kV873[H 2k 11639.4 1319.32
] RA 3 i R 2 ) I o B 3 L e i A 35KV 516 48 v 10kV539 % FE £k 7413.2 0
] ) 2 48 148 2 ) FE] 5] o i S {2 v 28 ] 35Kk il 48 HL il 10kV 810K P2k 5282.8 0
] 5 3t F 2 ) FE] [0 BH 31 L 3k H 2 ) 35KV b AL H v 10kV865F+ [ 2k 4503.3 0
oA 5 3 it H 28 ) [E] o] B 3 it b 2 ) 110KV BH 4548 H 10kVE /\N[EIZE (576-502) 9578.2 0
FEL )5 3 A0t A I ) B 4% L 43 v, A ) 35KV 7 A2 L 10kV536HT Lk 8054 0
oA 3 it e 28 ) ] %) S 35 L 43 F 2 ] 110kV & Sk AL H il 10kv855 5 L4k 3550.7 0
[ oA 35 4 4t 2 ) T %) o 3 L A4 Bl 2 ] 35kV_| 3§ A8 FL ik 10kV547 2 2% 4936.3 0
P 7 4k 4 A ) ] ) IS 3 2 A3 v 8 ] 35KV ZR 178 HL 10kV534 =75 £ 3637.3 0
] o 3 it R 2 ) T [0 BF 31 A3 i 2 ) 35KV I G AL F v 10kV51875 FR 2k 7413.2 0
oA 3 it e 28 ) ] ) S 35 2 43 v 23 ] 35KV, 74 A8 L ik 10kV531 78 4 2k 4849.7 0
[ o8 5 4 4t P, 2 ) T %) o 3 L A4 Bl 2 ] 35KV % BH A% H v 10kV 834l £ 5819.7 0
FE] %) 5 S0t e A ] FE] ) B 438 L 3% e, 2 ) 110kV 5 k38 L b 10kV857 & 47 £k 7274.6 0
] 5 3 it r 2 ) FE] [ B 3 A3 i 2 ) 35kV | 3 A8 HL ik 10kV 55031 I £k 8313.8 0
] o4 5 % it B 2 ) [E] o] B 3 S it b 2 ) 35kVIb B AR Lk 10kV5144b FE 2k 4936.3 0
] 5 3t r 2 ) FE] [0 BH 31, A3 H 2 ) 35KV [ 548 HLik 10kV58738 XL £k 2598.1 0
] ) -4k 48 2 ) [ R4 B 3 Lt E A 110k [ B A2 L bk 10kV8627# I 1 [A] 9578.2 0
[ oA 5 4k 4t el A ) T ] oF 3 L A4 £ 2 ] 110KV ik AR F il 10kV 5193 £k 9578.2 0
] ) -4k 48 2 ) FE] ) o B S {2 v 28 ] 110k V PH A8 HL ik 10kV B /\IHI 2R (569-501) 8227.2 0
R )5 A1 e A I o B 4k L 438 v, A ) 35Kk Vs AL A HL i 10kV 8447 F5 2% 9578.2 0
] ) 22 4k 148 2 ) FE] ) 3 B S {2 v 28 ] 35kVIb B A8 HL ik 10kV522-L H 1T [ 9578.2 0
] o 5 4k 4t A ) T %] o 3 L A4 v 2 ] 110k U 28 FL il 10kv871 5 1 £k 4936.3 0
] ) 2 4k 148 2 ) FE] 5] 3 B 2 {2 v 28 ] 35kV b B A8 HL ik 10kv523tZE 4k 7447.8 0
] 5 3t F 2 ) T [0 BH 31 L A3k H 2 ) 110KV 5 K48 F 10kV874 5 & 2k 7846.2 0
T 9 5 it E 2 FE] o4 [ 9 A3 i 2 ) 110KV [#] 345 H i 10kV861 T~ ZE4% 9578.2 0
] RA 5 3 i R 2 ) ] o B 31 L it 2 ) 110KV 7+ HE AR F 10kV889FHiiE £k 8054 0
oA 3 it e, 2 ) [E] o] B 3 3t 2 ) 35KV ] A8 HL ik 10kV81441 F 2k 6980.2 0
] 5 3t r 2 ) FE] [0 BF 3 A i 2 ) 110KV [A F# 42 F 10kV 8587t Vg £k 9578.2 0
P 7 4k 4 2 ) ] ) IS 3 A3 v 8 ] 110KV T JE AR H il 10kV835M] Ji £k 5265.4 0
] 5 3t r 2 ) FE] [0 BF 3 A i 2 ) 110KV A F# 48 F 10kV 8567t 2k 12055.1 0
FE] %) 5 S 0 e A ] FE] 4] B 438 L A3 B, 2 5] 110KV B 3538 1R 3 10kV565]L 2% 11223.7 0
] o 3 it r 2 ) FE] [0 B 31 A i 2 ) 35KV [ 54 B v 10kV5944: 12k 9578.2 0
oA 3 it e 28 ) [E] o] B 3 it b 2 ) 35KV S AR HL ik 10kV856F 51 2k 4936.3 0
] o 3t rL 2 ) FE] [0 BF 31 A3 i 2 ) 110KV {8 45 A8 F i 10kV832ilH Fi. 2k 7794.2 0
L %) 5 32t b A ] FE] 4] B 4k L A3 e, 2 ) 110k e 3538 L 3 10kV836:f8 X1 2% 11639.4 0
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A 23R A2 F, 2 ] 4 D 91 2L 48 b 2 ] 110kV FF FE 28 HL il 10kV894F+ R £ 12055.1 0
] oA 5 4 4t s A ) T ] o 3 L {4 v 2 ] 120k V T J5 28 F ik 10kV825H] HHELL 5282.8 0
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